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King Fahd University of Petroleu
Department of Mathematics
Math 101 Section 3

m and Minerals
and Statistics
Quiz I (Term 171)
Name: ..o ID oo Serial #: .......
1. Use the graph of ¥ = f(z) in the figure to eval
not exist, explain why? Use the symbols oo or

() im f(z) = 9

uate the limit if jt exists. If it does
-00 when needed.
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Math 101 Section 3 Quiz I (Term 171)

2. Evaluate the limit if it exists. If it does not exist, explain why? Use the symbols
o0 or —o00 when needed.
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lim [m] where [z] is the greatest integer less than or equal to r.

2
— ‘ \
Lw\. }::: O Sa'ncc o \ '
4+ [+ 105 : < — < |
X>o "X |+ 70 s x
. { ' '
L R ] = l C“;‘“CQ 27 ‘ —_
‘ N
X0 } + 1QSinx

(iit) lx_rﬁ f(z) where
lz+1] if z<1
f(“)"{zx | ;f:->1

L ‘P‘CX):L«; ‘)(,,_,’ - 9

X—>1 X"

Lo Py = Lo (ex) = 2
X.-) )‘f )(,-79"*‘

L«L_ ﬁ(x):; 2

K- L

2N
v

e g o

=



Math 101 Section 3 Quiz I (Term 171)
5 GmE o=l We=)
- =0 yx (Ve —1)
2
3 wumpt = Ll (,W“ —ut) L D
. W->- :Mtumt) L B)
(vi) igtg}sinzxcosg : Bg’{. ﬁL gj”CCZZ TI{.MW :
-1 < Cos Il o |
X
¢ 2
— S‘KX:{ S\k&CaS‘,_L (\$.‘1‘\X.
g\'\ﬁt Ki:;“g (mSmX,)::L §{'\X o = Lu;S’;:xosE,O
3 )(1—96 ' x“.')u P -
K (vii) lim Z+h7-8
e —0F h2
L...,\ (8—1— 2 k+ & i\ h ) g/
k— o* hv
. P z
L .)':((!2_»-%6‘\"fl‘>w
- s - oo
h»o LL?‘/



Math 101 Section 3 Quiz I (Term 171)

f;;;? 3. 1f iiﬂ%f@“igwé == 2, then find the values of a and b.
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